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Explain the methods of collecting primary data.

Write sources of secondary data.

OR

Seat No. :

Write difference between primary data and secondary data.

Explain questionnaire method.

[Max. Marks : 70

Explain meaning of continuous and discrete frequency distribution.

Prepare frequency distribution :
0,1,2,2,0,1,2,2,3,2,0,4,2,0,2,1,2,3,2,1,0,2,2, 1, 1

OR

Draw histogram, frequency polygon and frequency curve.

Class

0-10

10-20

20-30

30-40

40 - 50

50 -60

60 — 70|70 — 80

f

2

5

7

10

12

8 4

1

Draw cumulative frequency curve and find Q, data given above or in question

No. 2(a).

Find X, M and Z

Class | 0 —20 |20 — 40(40 — 60{60 — 80|80 — 100 100 — 120120 — 140
f 2 4 5 18 5 4 2
Explain measure of central tendency.
OR
Find Q,, P,s and Ds.
Class | 0-10 | 10-20 | 20-30 | 30-40 | 40 -50
f 2 8 12 8 2

Explain Mean, Mode & Median.
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4, (a)
(b)

(a)
(b)

Write tests of skewness.

Find coefficient of skewness by Bowley’s method.

Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50

f 2 4 8 4 2

OR
Write properties of symmetric distribution.

Find coefficient of skewness by Karl Pearson’s method.

Class | 0-50 |50-100{100 — 150150 — 200200 — 250

f 4 8 16 8 4

5. Fill in the blank (one mark of each) :

ey
2
3)
4

(&)

(6)
(7

®)
®)

(10) The quartiles are 1, 2, 3 respectively then. Skewness is
(11) X = 40, S = 5 then coefficient of variation is

(12) X=11,M =10 then Z =
(13) Mode of following distribution is

(14) If n=20, ZIX — X | = 200 then mean deviation is

JA-119

If£X =20,n=4then X = [2, 10, 5]
Mean of 3, 4, 5,6, 7 is [4, 5, 6]

Mean deviation of 8, 8, 8, 8, 8 is .15, 0, 2]
S.D.of3,3,3,3,3,3is [7, 0, 8]

X =24,7 =23, S =10 then coefficient of skewness is

X = 25, M =24, S = 10, then coefficient of skewness is

Skewness of following distribution is [0, +1, —1]
x 0 1 2 3 4

f 2 4 8 4 2

If )_( > M > Z then skewness is

.[-0.1, 0, 0.1]

.[-0.3,0,0.3]

. [Positive, Negative, Zero]

111
IfQ;-~M=4and M - Q, =2 then skewness is a2

R 2? 3? 4

[11, 10, 8]
. [3,45]
x 0 1 2 3 4 5 6

f 2 5 7 110 | 7 5 2

. [-1,0.1]
_ .[0,125, 800]

. [10, 100, 5]
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